x4 FRE R AR il
BET P 80% 380% 850.00 m’ ( 257.13 #)
b 37 [ G g X L /N m’” ( 0.00 ¥F)
0. 02.210 103.
Bkt 000 )
1007 H24H | HEATEE10K m’” ( 0.00 5F)
I A &3 80.0% 380.00% 850.00 m’ ( 257.13 HF)
B R T = 3,230.00 m’ ( 977.08 £F)
AT = m’” ( 0.00 #F)
Ho A IR = m’ ( 0.00 £%)
=1 3,230.00  m’ ( 977.08 )
LEREEE (D) 474191 * 10.5% 496.00 m” ( 150.04 %)
SICTEI0)) =| 474191 * 6.5% 307.28 m’ ( 92.95 £T)
15%%5t(c) = 387600 * 15% 58140 m’ ( 175.87 1)
B EEE () = 323000 * 0% 0.00 m? ( 0.00 ¥F)
f& %) = 323000 * 10% 323.00 m’ ( 97.71 £)
AR A EN(o) = 323000 * 6% 193.80 m’ ( 58.62 HF)
AR (o) = 323000 * 4% 129.20 m” ( 39.08 1)
A VAL ) 66.75 m’ ( 20.19 #¥)
MEEEEREE) =|  3,230.00 + 1723.40 (Ca~Cj-Cb) 495340 m> ( 1498.40 1)
2 2 J&(F) = 538.82 /8% 3 F 180.63 m’ ( 54.64 5F)
HTF=EEREG) = 55845 % 3 F 1,675.35 m> ( 506.79 £F)
PRMEERE (H) =] 605265 * 0.0% 0.00 m” ( 0.00 #¥)
S E AT =| (+E+F+G % 36.5% +H) 6,052.65 m’ ( 1830.93 #F)
REB 6,052.65 * 1.04 6,204.75 m’ ( 1904.16 )
SETEEIH 6,294.75 m® ( 1904.16 %)
KRR AR (G+E+F) 6,809.38 m’ ( 2059.84 )
SREEE =| 495340 - 25000 / 150 31 %
HEAFH = 1 &
T EFEEERE= (15.759%/5) = 32 H
ETEME 4953 - 25000 / 150 31 %
= &3 31 &
SR max = 850.00 * 63.4% 538.82 m’ ( 162.99 #¥)
BiZAEifEmax = 850.00 * 65.7% 55845 m’ ( 168.93 #¥)
PR = 190416 = M F14F + 2=
HFEE = 3236 + 78 /e
PHEELE =| 627295 = 3,376 m? 1.62
TP =| 627295 = 850.00 m? 7.38
NEEED =| 201301 = 6,052.65
SRET RS 711666 *  10,620.00 IT 75,578,933 Tr(H A & EE FoCH)
TO(E NS oK)
HEE L IEEE T EANE R (- %ﬁﬂé)mﬁr




